Standard Potentials at 25 °C

Half Reaction Potential Half Reaction Potential
Fo(g) + 26 = 2F (aq) +2.87V 2H*(aq) +2e” = H, 0.000 V
0O3(g) + 2H*(aq) + 2™ = 0O5(g) + H,0(2) +2.07 V Fe3*(aqg) + 3e~ = Fe(s) -0.04V
S,0g27(aq) + 26~ = 25042 (aq) +2.05V Pb%*(ag) + 26~ = Pb(s) -0.13V
H202(aq) + 2H"(aq) + 2~ = 2H,0(¢) +1.78V SnZ*(aq) + 2~ = Sn(s) -0.14V
PbO5(s) + 3H*(aq) + HSO, (aq) + 2e” = PbSOy(s) + 2H,0(2) +1.69V Ni%*(aq) + 2e~ = Ni(s) -0.23V
Au*(ag) +e~ = Auls) +1.69 V V3*(aq) +e- = VZ*(aq) -0.26 V
Pb**(aq) +2¢~ = PbZ*(aq) +1.67V Co?*(aq) + 2e- = Cols) -0.28V
2HCIO(aq) + 2H*(aq) + 26 = Cla(g) + 2H,0(¢) +1.63V In3*(aq) +3e~ = In(s) -0.34V
Ce**(aq) +e~ = Ce®*(aq) +161V PbSOy(s) + H*(ag)+ 2e” = Pb(s) + HSO,4 (aq) -0.36V
MnOy4~(aq) + 8H*(ag) + 5e~ = MnZ*(aq) + 4H,0(¢) +151V Cd?*(aq) + 2~ = Cd(s) -0.40V
Aud*(ag) +3e” = Au(s) +1.40V Cr3*(ag) + e~ = Cr?*(aq) ~0.41V
Cly(g) +2e= = 2CI(aq) +136V Fe?*(aq) + 2e” = Fe(s) -0.44V
Cry0727(aq) + 14H*(ag) + 6e~ = 2Cr3*(aq) + 7H,0(2) +1.33V U%(aq) +e- = U3*(aq) -0.61V
0,(g) + 4H*(aq) + 4e~ = 2H,0(¢) +1.23V FeCOs(s) + 2e” = Fe(s) + CO32"(aq) -0.756 V
MnO,(s) + 4H*(aq) + 2™ = Mn2*(aq) + 2H,0(%) +1.21V Zn?*(aq) + 2e~ = Zn(s) -0.76 V
21057(aq) + 12H*(aqg) + 10e™ = Iy(s) + 6H,0(%) +1.20V 2H,0(2) + 2e” = Ha(s) + 20H"(aq) -0.83V
Pt?*(aq) + 2~ = Pt(s) +1.20V Cr?*(aq) + 2e” = Cr(s) -091V
Bry(2) + 2e” = 2Br(aq) +1.09 vV Mn2*(aq) + 2e” = Mn(s) -1.18V
Pd?*(aq) + 2e = Pd(s) +0.915V VZ*(aq) + 2~ = V(s) -119V
2Hg?"(aq) + 2e” = Hg,?*(aq) +0.92V ZnS(s) + 2e = Zn(s) + S?(aq) ~1.44V
ClO(aq) + H,0(£) + 2e- = Cl~(aq) + 20H(aq) +0.89 V AlP*(aq) +3e” = Al(s) -1.66V
Ag*(ag) +e” = Ag(s) +0.80 V Mg?*(aq) + 26~ = Mg(s) -236V
Hgy?*(aq) +2e” = 2Hg(t) +0.79V Na*(aq) + e~ = Na(s) -2.71V
Fe3*(ag) + e~ = Fe?*(aq) +0.77 V K*(aq) + e~ = K(s) -2.92V
lo(ag) + 2e” = 2l (aq) +0.620 V Li*(aq) + e~ = Li(s) -3.05V
MnO,4~(aq) + 2H,0(2) + 3~ = MnOy(s) + 40H(aq) +0.60 V

lo(s) +2e = 2I7(aq) +0.54V

05(g) + 2H,0(2) + 4e~ = 40H"(aq) +0.40 V

Cu?*(aq) + 2e” = Cu(s) +0.34V

Hg,Cly(s) + 26~ = 2Hg(t) + 2Cl-(aq) +0.27 V

AgCl(s) + e~ = Ag(s) + Cl (aq) +0.22V

Bi**(aqg) + 3e~ = Bi(s) +0.20V

Sn**(aq) +2e- = SnZ*(aq) +0.15V

NO3~(aqg) + H,O(2) + 2~ = NO3 (aq) + 20H"(aq) +0.01V



